=
-

AfagR® g
u—qﬁaﬁwmﬁm—mmﬁﬁﬁmﬁng@rﬁéﬁﬁﬁaﬁmm—gqyn—qﬁ@#r—aﬁﬁ—ﬁw
WWW%@W?@WﬁOﬁOﬁOﬁWI

L ) qRIu I BT A -
™ o AT%d — 3-97 hee x 2= 7.94 hec

~

- 4—?@6%&@@%&@:—2000@1&;{%%0—15880.00

= 5 Afta @ S arel e -

0w B BT AM T | SR | 3918 & T
(w0)
~ [ 7 |vem ad &fE G o
P [ed v e 7.94 %0 | 115.00 913.10
7 o= @ wwr (@ e anfe) : 7.94 20 | 3730.00 29616.20
=3 |orm G a1 @R 7.94 30 | 38637.00 | 306777.78
: WWWWW@W?QWW—@W\TWWWW
w | 4 |afraifye st wg wfde
o 1= arrtad ABSH — 5x6725=33625.00 7.94 8233.00 65370.02
27— T AHSH — 5x6725=33625.00
{3~ arex Ewafen <® (3x2.50x10)2x7540=15080.00
- T — §2330.00
- ¢ |weer ger B (0.30x0.30X0.45) YT T wfea 15880 | o 7.95 126246.00
o |Fderr afcar S 7.94 ¥ | 915.00 7265.10
~ [, [fu=tsmw 15880 | <o 6.20 98456.00 <4
s |5 @ W da, wu, MR A B SESC RIS 794 | 0| 91500 7265.10|
g |oma o F0 W0 . 500.00
= TR — GAH TR 642409.30
- 7 | I =5
1 |aar w (0.30X0.30X0.45) 794 TG 1.42 1127
= 5 gt @1 e 15880 | @ 1.80 28584.00
- 3 |9 gar i 15880 | T 9.00 142920.00
] 4ot R a el 15880 | 9 2.77 43987.60
- - (G @ FRig — TS d At (@1 ) 15880 | 9 1.89 30013.20 i
6 |@me a g W & 15880 | " 1.42 22549.60
3 S |qenRir At # ST W e 7 e 7.94 20 685.00 38072.30
e g |81 gAYl A @ oraTd J
' q@m,w@wﬁw&ﬁaﬁmqﬁrﬁo T0 HO 1000.00
B |82 g BaTel / ORATG b dTe 4 A B gcel AH DI 0 o 1000.00
s.aqamwﬁamﬁﬁéﬁmﬁuﬁ“ﬁﬁaﬁﬁgﬁ&nwmég
: qﬁrmawaﬁﬁﬁimﬁmwm%’garﬁmﬁ/w%ﬁ?ﬁaﬁ ,
~ gieTe & | LS 1000.00
— S W S A e &g erel, [, A s W et
" 9 aﬁwaﬂfﬁﬁﬁ%gﬂzﬂ%ﬁqwﬁ’dmaéﬁaﬁkﬂq an I
Floe T Tl B TAR—TAR Tq 32@"\1?31_‘{ anfe r LS 1000.00
3 10 |oma o @0 w0 [ 1000.00}
= AT ferdr wROT — | 311137.9748]




0T0 &1 BT AT = TPIE | 3P T T
1| | (w0)
T QEARITUT &1 T a¥ &1 TERE
. 1 [9U0 a9 @ ST e A A SRe b
1 [den @ arra 1588.00 | U 8.00 12704.00
= 2 |9 gar @ 1588.00 | drI 9.00 14292.00
3 [g meer @ie wd vl s 1588.00 | Tee 4.40 6987.20
T 4 [Tesl ® TR WG Srorn AT HiEd 1588.00 | o< 1.95 3096.60
= [diei B direi wetT 1588.00 | T 1.63 2588.44
6 |a@ew Areren (12 ) 1 ad 7.94 20 685.00 65266.80
> 7 [ e gren &Y S0 W0 1000.00
2 |21 gemidr & @ ord g BT GH Ud saeraitel gerell Pl S0 30 1000.00
w |gern ufa 2o
~ |22 e dare & amew 4 WMo TS AWH DAl d0 o 1000.00
;}iz,SE{W?\?“ﬂWﬁ‘:‘ﬂﬂo BT dTel JTHTON @ AT GRE STl 8
= o |wfRreror R St e ¥ SeorEg o & wfeat /|ffEl B
— S LR & LS 1000.00
3 [ B 0 WO 1000.00
e T 109935.04
JERIT BT [Goid a% &1 TEREd
=7 oot a8 @ oW fedid 4y W arReer Hrd 1 9y 7.94 20 685.00 65266.80
) o= wrd 'S0 |0 1000.00
- T 3 66266.80
: JERIYYT BT gt ay ol IERETd
= 1RrTor 9% @ SuxrT qdrd a9 § R $rd 1 ay 7.94 20 685.00 65266.80
2o ard 0 0 1000.00
e J0T 66266.80
gERITeT 1 dqed o TERE
= 1|RTavr 9 & Swer @qel 9y W SERErT $rd 1 a9 7.94 20 685.00 65266.80
2|ema wrt 0 WO 1000.00
- T 66266.80
: JETRIYOT $T Ua¥ 9 Pl IEREd
= LIRTaor @ @ SuRr gan an W rRet B 1 ay 7.94 20 685.00 65266.80
EEkac 0 WO 500.00
= [T 65766.80
JERIICT BT B _q4 bl TEvdErd
1o a9 & Suxid Bo ¥ W orERer bl 1 ay 7.94 70 685.00 65266.80
2 |oma @t o0 W0 1000.00
— T 66266.80
JETRIYVT Bl Widd a9 &l W&
= 1RTaer a8 @ SuRIT Arad 9y W SrRert B 1 qq 7.94 g0 685.00 65266.80
2o wrd 0 ¥0 1000.00
~ T 66266.80
JERIUYT I 334 a4 ol TEwd \
1RTavr 9 @ SURIT omed ay # 3rRertT & 1 ad 7.94 20 685.00 65266.80
2laF @ S0 W0 1000.00
4T 66266.80
JETRIYVT BT A4 a9 bl IEREd
1IRTTer a8 @ SuRTed AT a9 W SRE Bl 1 dv 7.94 20 685.00 65266.80
2|3Fa Bt T10 W0 1000.00
RIRS 66266.80
JETRIYVT BT GUd dY Pl XERETT
1RTaor 9% @ SuRT e a8 § e a1 da 7.94 20 685.00 65266.80
2o wrd GI0 ¥ 1000.00
T o 66266.80
Pk i A 1658883.51
f
’ =
. T T

ATy X WY



